#42
STAMPEDE HOOD PROTECTOR
AUTOMOTIVE ACCESSORIES INSTALLA TION Iﬁ 'STRUCTIO S

TOOLS NEEDED: KIT CONTAINS:

#2 PHILLIPS SCREWDRIVER HOOD PROTECTOR
2 #12 x 78" SCREWS
2 WASHERS

2 PLASTIC GROMMET NUTS
OPEN HOOD SO THE UNDERSIDE IS VISIBLE.

INSERT PLASTIC BUSHINGS INTO THE TWO OUTER-MOST HOLES ON THE UNDERSIDE OF THE HOOD.

USING THE ALCOHOL PADS FROM THE HARDWARE PACK CLEAN THE PAINTED SURFACE ABOVE THE BUICK NAMEPLATE AND UNDER
THE HOOD WHERE THE MOUNTING TABS NEED TO ADHERE.

REMOVE THE RED BACKING FROM THE TWO SMALLER TABS. PEEL AND FOLD TOWARDS FRONT OF SHIELD A 1" STRIP OF RED
BACKING ON THE CENTERTAB.

CAREFULLY, WITHOUT APPLYING TOO MUCH PRESSURE, PLACE THE HOOD PROTECTOR TO THE UNDERSIDE OF THE HOOD
AND SLIDE THE CENTER OF THE SHIELD OVER THE NAMEPLATE, ONTO THE PAINTED SURFACE JUST ABOVE THE NAMEPLATE.
ONCE THE HOOD PROTECTOR IS CENTERED TO THE HOOD, APPLY PRESSURE TO THE TWO TAPED MOUNTING TABS.

WITH A #2 PHILLIPS SCREWDRIVER CAREFULLY ATTACH THETWO OUTER TABS WITH THE #12 SCREWS AND WASHERS FROM
THE HARDWARE PACK. DO NOT OVER TIGHTEN!!!!

LOWER HOOD AND REMOVE THE RED BACKING FROM THE CENTER TAB ON THE SHIELD. APPLY PRESSURE TO THE CENTER OF
THE SHIELD TO ADHERE THE SHIELD TO THE HOOD.

QO 00000

CAUTION!
DO NOT ATTEMPT TO USE POWER TOOLS WHEN INSTALLING YOUR HOOD PROTECTOR.
THIS WILL CAUSE THE THREADS TO STRIP INSIDE THE PLASTIC GROMMETS.

Stampede Products, Inc. « 1924 S.Washington, Blvd. « Camanche, IA. 52730 + Ph 563-259-9189 Fax 563-259-9288 « www stampedeproducts.com



